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TR ENGLISH
g )

. Choose the correct synonym of the given word: Placid

(1) Clear " @ Dull g’f Enjoyable (4) Calm

2. Identify which part of the sentence has an error.
(A) People who are averse with - i)

' /(B) Hard work
- (C) Generally do not | tedt (D) Succeed in life (E) No error
| (1) C , @D | GA . 4 B. B

3. Choose the correct passive voice form of the

(1) A knowledge global gap is filled by you

~4) A global knowledge gap is filled byit. . (4) Itis fill by a global knowledge

4. Choose the correct alternative for the glven
(1) I claimed to Vedant what it mean.
" (3) Isaid to Vedant what meant it.

'Direct Speech'. I said to vedant, "What does
" (2) I asked Vedant what it meant.
\/(4) I advised Vedant what means it.

S. Choose an option giving the co g twe degree of the given. -
Sachin Tendulkar is the best batsman in India. P0G 8 -

/‘ﬁl) No other batsman in India is as good as Sachin Tendulkar.
/Q) All batsmen in India are superb as, Sachin Tendulkar,
(3) Sachin Tendulka: is better than any other ba!:smz_lg_l_n__lpil_ng

/['4) All batsmen in India are mfenor to Sachm Tendulkar

6. Choose the proper articles.

10 It must be magic ﬁsh'.' B e ﬁsh will grant your wish.
G ey T @ aa il Teyaan, L s, the

| R 4 Fill ir in the blank w1th the correct alternatwe
- Camels : Grunt :: Elephants : & ol

.-.‘ ) (l) Coo < (2) Bellow i LBy Trumpet " (4) Growl
| Il{ | N T g -
: ' 8. Choose the correct 'Antonym of the gwen word _ |
% . .Provoke sl T ; . O R 45
/@) Attract e (@) Convmce - () Gratify ) Pacify

. 9. Find out the phrase WllICh can correctly Sllbstll'llte the underlmed part of the sentence
.~ A hot head is always a loser in life. -

M
{

l 11.- Choose the mlsmatched palr from the followmg N v

¢)) Goose - 'Geese (2) eep ~ ShecP5 (3) life — llVGS S (4) deerf deer

given sentence. It fills a global lcnowledge gap.
.(2) A global knowledge gap is filles by 1t

it mean?"

v)/ rash person (2) telling a lle e (3) Irregular person (4) top
:, 10. Choose the correct alternatlvc Isolved a problem S ‘. was.very dlt'ﬁcult
- (l) who = v | _(2) whose ' \9')’ thh Soen i (4)»Wh.°m
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12. Choose the correct alternative. He fifteen next birthday.

-(1) have been (2)-will be * (3) would be (4) had been
13. Fill in the blank with the proper alternative.
Perfect health depends on the of a few simple rules to health.
(1) observation (2) occurrence (3) observance /@»),Adaptatiorr '4

(" 1
Choose the one which best expresses of the underlmcd word in the sentence. - : 1

The boy is anxious to learn as much as he can. ,
(1) Serious () Worried (3) Forced (4) Eager

14.

15. Count and choose the number of adjectives in the following sentence.

Itisa @d idea to go to Mahabaleshwar by a private car.

L) 2 sl D) B @) 4 el Ay
k ; 16. Choose the correct 'Interjectlon to complete the following. " 1At l_ost you h'avo-c_lone it,
| (1) Hurrah (2) Alas (3) Bravo . (4) Ouch ,
l ‘_}«7/ Rearrange the jumbled parts which are Ilabelled P, Q, R, S to produce the correct sequence for
. the given sentence.
g We have to : ' : -y a1 oo™
N f P:aswese_e it‘ : Q : speak the truth, . - S T _'1/
1 i R : there is falsehood and darkness. S : even if all around us. ../ 5 et S S
= ] (1) RQSP (2) QRPS .- GYRSQP"; ' =' (4 QPSR ¢ .~ {.
li ~ i : Fill in the blank with the correct alternative, He tr.oats us X -slaves. .
= like - ) with . Q) from Sk @) for
Find out which part of the sentence has an error A
A. Iwillputon. f 4 B.'a note in this regard.
- C. for your consideration. \ D, and oocos'sary_'decisitm.
AV S0 @B *13)/A £ U

~ 20:. Choose the most suitable 'One word' for the given expressmn
One who is interested in the e welfare of women:

(1) Ascotlc ,,(2—)’Fomrmst . (3) Recluse @ R'eproof |
21. Choose the correct alternative : :

I : Keats and Byron are romantic poets but I profer the latter
IT : She came to school later than I.

(1) Only Iis correct. ' " (2) Both1and IFuriiot correct.
(3) Both I and I are correct.. .. . (4) Only IL is correct. - -
22. Fill in the blank with the correct alternatwc ‘
Cow : Calf :: Lion : ’ ety ol e Fr T Ann
[¢)) Cjol‘tk_‘., 54 \E Cub\h, (3) Cygnet i (4) Leveret
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- 23. Choose the odd term out: '
(1) poverty (2) freedom (3) wisdom (4) pecrman

24. Choose the correct alternative:
He prefers coffee . . tea. ,
(1) above () over (3) after (4) to

! f iy

't 25. Plck out the most effectwe word from the given.
My father is the brother, of my uncle.
(1) older Q) larger (3) elder

- o .

J (4) blgger

Read the following passage carefully and select the most correct answers of the given questmns

(Q. 26 to Q. 30) o ) . b M u et ) _

Culture is not merely learmng It is d:scnmmatlon understandmg of 11fe LIW
producing moral gifts as well as mtellectuaﬁ sweetness of temper as much as sanity of outlook. Into the

art of living, the cultured man carries a certain grace, a certain reﬁnement a certain dlstlnctloﬂ which
redeems him from the sterile futlllty of aimless struggle.

Culture is not a pose of mtellect or.a code of conventlon but an attltude of life whlch finds nothmg' y
human, alien, common or unclean An education that brings up a young man in entire indifference to
the misery and poverty surroundmg him, to the general stringency of life, to the dumb pangs of tortured
bodies and the lives submerged in ‘the shadows is essenﬂaﬁ—ﬁf_;fallure If we do not realise the solidarity

of the human commumty, nor have human relatxons with those whom the world passes by as the lowﬁ}’
and the lost we are not cuItured 4

- 26. Wthh of the followmg statements best expresses the theme of the passage” e % / v i
(1) Culture lends grace and sanity to man. fae o ' Nk

(2) Culture and education are complementary to each other i ; wrafopdty = \ i

;I (3) Liberal education makes man cultured. : o o Sy o

4) Educatlon brmgs man closer. to llfe T Uil B - 4l

'27. Accordmg to the wnter the ﬁ.mctlon of hberal educatxon is to | # ; g
€)) change the outlook of a person. s % ~(2) increase intellectual powers. T
i
‘,(3')” 1mprove a person morally w2 (4) develop sensitivity to human dlgmty

28 Consnder the foﬂowmg i 2 s, : ‘3
rotherhood of man - : ; /(2) Understanding of pain and suﬁ'enng
3) Better human relatlons VG : . (4) Sweetness of temper

29. ;Culture redeems a person from the sterile futlllgz of aimless stmggle because
( I) it makes man leamed= Tt (2) it makes man more mielllgent

3) it bnngs about a better unde?tandmg of hfe @) it prepares man for struggle

30. Educatlon is sometlmes a fallure Whlch one of the followmg is the most likely reason for thls‘? ,..:

(1) It improves thﬁlg_Lellect only. - (2) It does not prepare man for struggle.
(3). It does not make man refined. J':'. ' (4) It cames a mangaway frorn life around hlm
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CHILD DEVELOPMENT AND PEDAGOGY

' 61 Which of the following psychologlsts made a research on heredlty and put forth ;h/ laws of

heredity? . P

(1) Galton (2) Gregor Mendel  (3) R.C. Tryan 4). Piaget

62. Individual dlﬁ‘erenccs seen in students are created due to differe /nt’ situations. A teacher should
therefore obtain information about individual dlfferences and then teach the students. Which of
the following should a teacher avoid while teaching? ot v
_(I) Give proper educational experiences for the developmcnt of innate traits.
(2) Create suitable situation for maximum development of competencies.
(3) Assume that creation of a spec:ﬁc situation will create specific development
(4) Make efforts for the rnental and social development of students

63. Sensation means initial mental process occurring about extemal st1mulus
Which of the following statements is not correct concefmng the above statement‘?
(1) Sense organs are stimulated in presence of a stlmulus
(2) External stimulus is affected by sense-organs. " hon
(3) Effect on stimulus is relayed to the brain by the nerves, /'
(4) Sensanons are of nnxed type.

64. Revival of prevnous experiences in ones mmd in spite of absence of stimulus or brmgmg the
: expenences in one s mind's eye is called as ’ ; e

(1) concept (2) imagery - (3) perceptlon 5 '(4) sensation‘

65. Wl:uch of tho following statement about perceptlon accordmg to Gestals pattern lS not correct?
(1) We always have perceptlon of the whole not part. b b
~ (2) Percieving the whole means understandmg the thmg as a whole
_ (3) Whole of an item means addition of all its parts. -

(4) When we percelve a thmg we see it as one part ﬁgure and remammg background

R -

-66. We rernember a scene as 1t is from the mowc whlch we had seen long back We also see a crlcket gt
match in our mmd‘s eye. This happens due to whlch of the followmg types of 1mag1natlon?
(1) Pragmatic Imagmatlon | .. (2 Fantastic Imagmat.lon T R
(3) Reproductive Imagmatlon' 3 5 L (4) Aesthetlc Imagmatlon ' '

. - !

67. Thinking i is a complex process Whlch of the following mental processes are mcluded in 1t‘7

(A) Perccptlon ik : " (B) Concept
(©) Reasomng and Analysxs “ (D) Memory = i
(1) A, B;COnly, ' fil s ™ o oy e, D Oy’ o 8 b B

(YA, BD Only',, 4 7 G I (Y A, B Dl
[0E. Serles-—l(ll(Set A) e i 1] P O
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68. Which of the following is an example of thinking process at perceptual level? (s
(1) Thinking during giving a speech.
(2) Thinking about the clothes of Mahatma

_ Gandhiji after seeing his picture.
(3) Thinking while writing a story. |

(4) Thinking while writing an essay on a given suﬁject.

69. An individuals structure of mind affects the retention whic
Which of the following factors is included in it?
(1) Intensity of Stimulus |
(3) Mental maturity

h is an important factor of memory.

(2) Meaningfulness
(4) Source of stimulus

70. Which of the following methods is not used for measﬁring retention?
(1) Recall method

(3) Releasing method -

71. Which of the following statements is inclusive in the definition of motivation given ’by"Cpmbs
and Snigg? ' L ' o :

(2) Recognition method
(4) Recitation method : '

U

(1) Situation increasing the vigour of reactions.

(2) Driving force of behaviour needed to retain self concepts. ;
(3) Force that retains the power of vi
(4) Essential factor for learning,”

gour for behaviour and helpi_ng' to gain the aim.

72. Language competency, memdry,

numerical knowledge, speed ‘of percep’tion, inference space
_knowledge and problem solving,

all these were considered as standard primary mental competencies
by Thurston to put forth a theory of intelligence. Which of the following is that theo
(1) Quantity Theory |

' (i) Two Factor Tl;eory |
3 Multifactor Theory (4) Theory of Formal Discipline
A\ el 1

ry of intelligence? -

.73. In 1990, John Meyer and put forth the theory of emotional intelligence.

. (1) Peter Salovy (2) William James  (3) Dalip Singh- (4) Bruner

t 74 Which of the following.is an incorrect effect of mental conﬂicts'?

y K (1) A person gets dejected. (2) There'is-a rise in the activity force. -

(3) There is imbﬂlanév; in 'adj}ismleint process. (4) A person feels drained out and weak.
75.. When a persoﬁ tries to impress ex:eryonc by showing his photpgraph with préétigi_gué 'pédple or

shows the letters which have been sent by important people, then _type of defence
mechanism is being used. , P ,

i | s : i 3 i '
(1) Rationalisation (2) Compensation (3) Displacement ~ (4) Identification.

76. If the content, knowledge, technique, skill, etc. fa'ctors and objectives are similar between two
. similar learning situations then transfer of training
forth by which: psycbolo_gist? :

occurs. This theory of identical factors";“;‘éé"put
(1) Pavlov " - (2) Bagley - - (3) Judd

(4) Thorndike

-y
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T7. Which of the following statements describes the characteristics of social developmerlt of children
in infancy stage?

(1) Do not recognise outsiders, (2) Do not respond to others' actions.
(3) Try to attract others' attention, 4) They quickly go to strangers.

Which of the following statements is correct about the physical development,of children of later
childhood? - o

- 78,

(1) Secretion of glands affects the body structure.
(2) Girls show increased growth of muscle fats,

(3) Girls show increased growth in supply of oxygen.

(4) As the physical growth of girls and boys is similar, the activities of physical edueatlon are
also similar,

79. Which of the following statéments is not correct about very superior mtelhoent students? :
(1) They should have curriculum similar to the normal students, ~ "

(2) These students may have the ‘proud feelings that they are superior to others.  ~ 7/ . .’
(3) These students are like competitors to the teachers.

| o 2 X ‘.f ..
(4) These students do not pay attention in class because they feel the syllabus is easy 3

" 80. 'Our personality is thus the result of what we start wnh and what we have lived through' Who

put forth this definition of personality?

(1) Norman L.Munn - (2) G.w. A‘lport 42 (3) G. A. Kimble iz (4) I B. Watson.- .

81. When there i is excess sceretton of thyroxm from the thyro:d gland wlnch of the followmg symptoms
is seen in a person? -

1)
e

(1) These persons do not feel huh'g;ry. 3

(2) These perso'ns ‘dre Lﬂstable
(3) These persons are not ambitious -

(4) These persons are sleepy in nature

- 82. Which of the followmg psye‘lologlsts is not included in the group of cognmve theones of leammg?. :

: (E) Guthne , (2) Lewin - (3) Gague i~ (4) Bruner

83. Accordmg to Kohler mteractlon between an mdmdual and hlS surroundmg gwes rise to 1n51ght

resulting in problem solving. He proved this by performing an experiment. Which of the f’ollowmg < od
- animals was used for this experiment by Kohler?

(1) Dog ' (2) Cat (3) Chlmpanzee (4) Ptgeon

84. Followmg are some statements descnbmg t]:e nature of teachmg process Whtch of the statement
1s not correct‘?

(1) Teaching process has the power of i mcreasmg the speed of leammg
(2) Teaching is conducive to leammg

(3) Teaching process is natural and Spontaneous 7

(4) Teaching process mvolves three factors teacher, learner and the subject
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85. Which of the, followmg models of teachmg includes observatwn of surrqunding malpractices, :
discussing them and interviewing people who have fal]en prey to these malpractices? = . .
(1) Personal Development Model . 2) Social Interaction Model '

(3) Information Processmg Model (4) Behavioural Modiﬁcation Model -

"Leamning means that activity whlch plans to give response to a new situation". Who put forth '.'-
this definition of learning? - = - - |

(1) John Lock (2) John Herbart ~ (3) Wilbur Schram (4) Girsiis ..

|'\';|| . I\,J,).ll I.Ij

86.

87 Which/of the following is,not a correct statement about learning?
(1) Natural changes occurring in growing age is leamning.
(2) Taking experience and learning from experience both have unportance in lcammg process.
(3) When a small chiid stands on his feet without support, then 1t can be callcd leammg
(4) Leammg 1s pcnnanent and expected change occurring in behawour o

88. Followmg are given three levels of human behavioural devclopmcnt and their exarﬁpl'es Wh;ch
: altemanve shows the correct pairs? Y "

Develppment level ' e Example {3
Al Physiological level (i) Development of i u'naglnatlve power ;
B, Cognitive level ' ; (i) Development of attitude
o b‘ Em‘otiorial level | i t o 2 (iii) Developmeht of different skills. !
(1) A=@{) B-(i) C j(iii) i (2) A-() B-(it) C-@G) v o v 3
(3) A= (i) B-() C-Gi) @A) B-G) C-@) "A-‘.' P

89. When an individual reaches the maximum leve} of prog:ress and how much ever he tries he cannot b
- cross that level, this stage of leammg curve is called S i
(l) Fmal stage ofprogress o AiE % 3 . --' ~on
(2) Stage of Plateau o : '
(3) Physical and psychologlcal mastery and hlghest lumt :
(4) Stage of slow | progress

90. In 51gn1ﬁcant verbal leamning the previous knowledge is lmked with new mformatmn and lmkmg
these two is very 1mportant This op:mon Wwas put forth by Ausubel n wluch of the followmg
theory"'

(D). Theory of Meanmgful Leammg and Instrucnon
2) Field Theory of Leammg : £ v
(3) Mastery Learning Theory. - ) _ i 5 SRV
4 Sq:criall_c‘}hlsgrvz_ttional‘_ 'I.._eamihglil'rheory_ ) - | o : | : . ( ) f

o

E}.B. Series—101 (Set {7}1;&) .
" Y

e P 245 A : !
g

WW\I/v.adda247.com/mr'| Adda247 WRTSY App | https:/7t meyAdda247Macathi:
Scanned by CamScanner


https://play.google.com/store/apps/details?id=com.adda247.app

e

| MG
_91.4§mﬁ¢\vﬁ@wmmmﬁaﬁﬁ -
k2 10 - (3) 11 (@) 12
92, WWWWWWWW mnﬁgﬁ’im 4 2 el mﬂﬁm’iﬁm
ﬁmﬁm@mmﬁﬁwm, > |
(l) 3 (2) Srege (3) %q‘g W’ﬁ =\
(1) CD sfes ¢ | (2 M C
@) cTR v (4)Mmﬁ1€111 ,
e Wmm%%ﬁﬁ@maﬁﬁﬁmwwwmm
mmmmmﬁmmmmmww%7 " f‘}
ALY 165°— 2) 450 @) 15 (4) 55°

95, Tl spliEeE (] s st wen Fow?
310 15 26, 35, ], 63 '

(1) 48, (2) 49 it (3)/50 4) 51 :
96. neﬁqﬁamwmaﬁaaﬂawmﬁwﬁgmﬂammmmﬁ
el ol _amien? ; ]
K 20
M 28\2 (2) 28 3) 2142 @21 *

‘“ﬁ'

97. maﬁwnﬁamnmm%mma?m@ﬁnﬁaaﬁﬁwaﬁﬁﬁzﬁﬁéﬁ?ﬁ ?ﬁ
mwaﬂamwmaﬁw |

4 #(2):5 \-.L _(3) 8 : 4) 9
| 98. THI WA 15, 11 37 12 =it qﬁlﬁmuﬁmé&’rmﬁ4a&miﬁmm? !
| (1) 1316 £2).2644 . (3) 660 (4) 1976

|
i
[(z 251:5)*___;5)(4 25— 175) (6.5-3.3)(1.8+1. 4)} Pty
| (4.25-1.75-3.2)(1.8+1.4+2.5)

(3B L ) 0 L (a)dnas L) 1
r . Y -. _.
Q.B.-SE_I'iBS-].OI (Set—A) . ' . ‘ e, T ]6 T “"HL",U
| e | o]
.‘tWW\NAddaZAJ \dda247 1 o 1ttps://t.mé/Adda247Marathi "

Scanned by CamScanner


Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

https://play.google.com/store/apps/details?id=com.adda247.app

T

MATHEMATICS

What is a base sequential fifth triangular number followed after triangular number 157

(19 1y . @10 (3) 1 4) 17

Rl

,\ | | oA e B
Some workers complete a work in a few days. If the number of workers is increased by 3 times,

how many times the days will be required to complefe the same work?

(1) % (2) one and half - (3) % ire B ‘ (4) Quarter and one

With reference to the Roman number system which is the conﬁa‘dic’tdrj? option ambng the following? |
(1) CD Plus C E (2) M minus C

(3) C multiplied by Y| (4) M is di;vided by IT

When minute hand is at tyelve a time is seen, a right angle is-observed between minute hand and
an hour hand of a clt')cﬂ\What will be angle in dcgrees obscrved between two hands after two
and half hours? '

)

(1) 165° - A (2) 45° - (3) 138° Aoy o (4) 55°

. What will be the number at (] place in the following number pattern?
¥ i f
3, 10,15, 26, 35, [, 63

(1) 48 () 49 (3) 50 - @st

A W'hat isa length of a side of the squarc in ccntlmetre formed by Jommg four points on the mrcle

of cucumference 176 cm‘7 ] _ ¥
. uf (e S

(1) 28\5 v (2) 28 ° (3) 21J_ 4 21

.- Two' ends of a rope havmg length thirteen’ and half metres are assemblcd at together. At how many
pomts such a dual rope will cuts in order to divide it into equal plcces of a length 1.5 m each?
) k) e vl ; ¥
(1) 4. ' (@) 5 R _ (3) 8 . 4)9

L Tl e LX) (el ! . - .
Ifa number is dmded b1y 15; 11 and 12 every time the remainder will be 4. Then what is a number

-
.

i

from foD_low.mg? ' T T : -. or, i
(1) 1316” AR oyoeas ot (3) 660 s (4) 1976
" y & ;

' (2.25+0.23)(4.25-1.75)~(6.5 _33)(1.8+1. 4)]
’ Fmd the value-of: [ T (4.25-1.75-3.2)(1.8+1.4+2.5)

| @1 '.
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00. Breadth of a rectangular ground in a circular garden is 42 m. If the area of a E;fdeﬂ is 3850 sq.m.
| If all vertices of a ground are on the circumference of a garden find the length of a ground.

L ()s6m () 62m

Y, (3) Slm (4) 58m

_1; Monthly salary of Savita is Rs 10,000. It is onz and quarter times the salary of Vedica. Vedica's
monthly salary is two times the salary of Asiya. What the monthly salary of Asiya?

(1) Rs. 6,250 © (2) Rs. 4,000 (3) Rs.5,000 - (4)Rs. 7,250 (

102. It is decided that among some boys 17 note-books are given to each boy. But when actually 28

note-books are given to each boy 352 note-books fall short. Then-what will be number of boys?
T ' ) A | i ’
()28 5 (217 _ E) 25 40 (4) 32

N

103. Write the number of triangles in the ad_)mmng ﬁgure

M2 g .:-i;'}‘ AR .

DR R & /' @, iy 7

104. If 48 articles are to be distributed equally, then by how many ways can, it be dlstnbuted? K %
Wy 8- B @y e ) 10 L (4)11 '

105. What is a dlﬁ'crencc between the sum of two dlglts even numbers and sum- of two dlglts odd
numbers? ' ' ; '

L

(1) 45 o @) 100 0 T (3) 50, @ss

] 06 How many paus of co-pnme numbers &om 1hc following pan's, (12 and 101), (9 and 39), 9 and
| 49) (11 and 111), and(19 and 247). e | .

(1) Flvc '\N-'"I.j " (2) Two i w (3) Three .I.(.4) Four }

ol ™ 3 y
107. In a certam year 'Maharashtra Dm is on Sunday Then what wﬂl be day on 'Chxldren s Day in the \

Y

same year?

(1) Saturday = (2) Sunday = (3) Monday "(4)" 'I‘u'esd'ay 4

"108. Of a certain amount il e tlrnes the arnount is given to Ved Or %tlmes the amount is gwen to

Vijay or -% times the amount is given to Samya or % times the amount is given to Veena. Then

who will get the maximum amount?

Mmved L @Viy 7 @®Smya  @Veenai, |
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t;\). Rhombus isa ____ ' To complete this statement which of the following statements is more |
correct? . | ' '
(A) Parallelogram . (B) Rectangle
(1) Only (A). (2) Only (B)
(3) Both Aand B 5 _- * (4) Aand B are not suitable
1 {51 '
|: 2 [ 8+z)>(0.24] =7 .
1) 122 TR = e 1:p -8 B Raa e
ot (2.129 (O (4) 0.15 '
1 I » oY .:IS; / sy r' i,
In the figure aside, open structure of paralleloped box isshown. = 7 7 S
What letter will be observed on the surface : ‘ P
whlch 1s exactl)' OPpomte to the surface of letter D? ~ [A|B|C|D Wias 0y
v . R dh ' Mo
(1) E (@ F e LE |
. . i . i)
G)A -% - (4 B aden

. Three boxes contain 144, 112 and 192 note—books respecnvely If three bundles of equal numbers "

' of note-books are made How many maxlmum numbers of note—books cach bundle mll contain? | .

(1) 32 @ 48 e @A EE Y (4)3 S N
3 : ; J Ly
o
.Ina number 74. 376 how many times the place value of 7 is at extreme nght than extreme left?
: : : ¢
(1 103 v (2) 1072 Lyl i (4) 102 oy
i A / - . '_I" l"_
. The ﬁgure a51de is of Rhombus Find the value of a'. vr g | 2 LR & "
(1) 20“ " (2) 30° i g -' '_ ; : 2R 4 __-l- (0
@40 @ s e ST, Rt
: Rectangular colour paper of size 9 cm x 40 cm is cut dlagonally in to four tnangular ﬂag I
Pataka. Then what is a sum of penmeters of all Patakas'? g : it . |
(1) 100cm {_; @ 162 em 1 ((3)262cm -/ (4) 180 cm .-
2-9x+20] ' R R T '
116. If[—ﬁ] =0 thenfindx. - o e
(S AT @Ay VU@ L T e
Q .-_l!_hé_S,'erles—IOI (Set—x?») A, 0P A Ll o ” "";.'ﬁ." 21 /
: b o 1y !3“] =y A gy | O
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117. In a bag there are some notes of T500 and some notes of ?2000 denominations. Total cost of notes '
is ?30500 Fmd the number of notes of T500.

(1) 59 @3 . @1y 4) 25
118. If sum of the measures of supplementary angle and complementary angle of an angle is 170°. !

Find the measure of an angle. .
(1) 60° (2) 70° . (3) 40° - - (4) 56°

HHHHTHHH Ei‘{‘.i!iiiii“”iﬁ!"{!iﬁiii?ﬂﬂiEﬁ‘:jjﬁifﬂiiﬁiﬁiiéiiiiii
B ; i Scale .
On-Y - axis - Attendance percent i
Sl 1cm=5% o :
atisieing HaHiHE On - X - axis - Months. i i
:
)
= j
ane i : . : : X
e f.r....ﬂ.ﬂfé f 'I s

19. What is a percentage of more attendance of the studems in the month of October than in the

,(- =

monthofJuly? St ! U, Ml T s i 3
1y 16% R @Y7 G5 .. @ 33-_
120. What is an average of percentage of absentee of students in ﬁve months? s :
(1) 65 -, S 7 _‘ (3) 2 ALy 70
Q .E:'_Series—lﬁl (Set-A) i s : i ‘_ i ._ .__:.l [230f32
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ENVIRONMENTAL -'STUDIES

L]

21. In ancient times man initially used pomted reeds to write on which of the followmg‘?

(1) Kumkum Péira 4 Ve g (2) Unbaked bricks ._
(3) Patra gu cchha ol Lo (4) Sheel = - Ml e N

22. What is the meamng of the word 'Palaeo relatcd to History?
(1) Old. gt :. - . (2) Middle
(3) Stone ' ; co 4) New

123. Considering, the person and hlS tenure Wthh 1s the correct chronologrcal order'?
(D Vardhaman Mahavir — Gautam Buddha Chandragupta Maurya ‘Samrat Ashok.
(2) Gautam Buddha - Vardhaman Mahavxr - Chandragupta Maurya Samrat Ashok.
3) Gautam Buddha — Vardhaman Mahavir — Samrat Ashok — Chandragupta Maurya.
(4) Vardhaman Mahavn' Gautam Buddha Samrat Ashok Chandragupta Maurya'.'

124. Who changed the name of ‘Devgm fort to 'Daulatabad"? '. N P OUTR
(1) FlrozTughlaq 2 ) :__ : (2) Muhammad Ghon g A
(3) Ttutmish':: il o _' Ut @ Muhammad 'I‘ughlaq | Wb
125. The holy book of Stkhs Guru Granth Sahlb' meludes the composmons of whlch of the followmg?

() Mahakavr (Great poet) Surdas ' ” (2) Chaltanya Mahaprabhu
(3) SantNarsi Mehta ' . ., (4 SantEknath.

126. Which of the folldwing is/are cqrreet ataternent/ stat_ements?

(A) Adilshah gave the title of 'Sa Lashkar' to Shahaji Raje o0 ()
(B) Nizamshah glﬁed the Jagtr of Bangalore to Shahaji Raje. y S i \ I
- (1) Only (A) correct N s (2) Only (B) cor.rect | | A G
(3) (A and (B) both cc:rref:t“ foc N ot Q4) (A) and (B) both lucorrect :
127. Whlch of the followmg is not a'loyal servant of the Hindavi- Swaraj of Chhatrapati Stnvajt Raje?
(1) Noor Beg ri 5 f 3 g;z) Salabat Khan ' |
1(39 Kazi Haidef. .| ¥R i ' (4) Siddi Misri
125 Whlch of the following Ashtapradhan Mmlsters had to participate in the war?w =gt {-"{: _-‘__.;;}
1 AmatYa and Sachiv - L (2) Amatya and Pandit rao" _' :~".~'.i{c. e
(3) Nyayadhlsh and’ Sachlv e T -(4) Nyayadhish and Pandltrao B
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1.

30.

31

3.

33.

34.

3.

(4) To take revenge of the insult done in Agra visit.

Which is the main reason of the first campaign on Surat by Chhatrapati Shivaji Maharaﬂ

(1) Recapturing the forts, given to Mughals in the treaty of Purandar.’
(2) To put a check on Siddi Johar. '

(3) To make up the loss which Swarajya had felt during the 3 year reign of ‘Shaista Khan.

Which coins W1th the inscription 'Shiv Rﬂja Shlvchhatrapatl were e minted on the occasron of

coronation of Shivaji Maharaj?

(1) Gold Hon and Copper Shrvarai N ) Gold Shivrai and Copper Hon ! i ' ‘
(3) Gold Hon and Gold Shivrai : (4) Copper Shivrai and Copper Hon = -

Whtch of the followmg alternative is the correct statement about the proceedmgs of Zrla Parishad?

(1) The minimum number of members of Zila Parishad is 60

(2) The ehalrpersons of all the. Panchayat Samitis of the dlstnct are members of the Zilla Parishad. ,
(3) The tenure of President of Zila Parishad is 25 years, TR AT aRERR R i ( . : §
(4) The Vice President of the Zila Panshad is the ex-oﬂimo president of the standing comrmttee.:

Which of the followmg isa ﬁmdamental nght of Indlan Constltutlon"»' :

(1) Right to Informatnon @) nght to Vote: o5 s P
(3) Right to Constrtutlonal Reme‘rlies SR 4) Hum,an Rights e % Livsl £y '
Which of the followmg plaoe has angh Couk & i R R _' '
(1) Shillong - [ AT (@) Kohima t
3) Alzawal ’ e Al B (4)"-Itanagar' s

i .".-.f; f

Which of the followmg orgamsatrons aiﬁllated to UNO has 1ts headquarters in Vienna"

¥

(1) World: Health Orgamsatlon (WHO) : |
(2) Food and Agncultuxe Orgamsatlon (FAO) . i BT St SR I\
3) Internatlonal Atomic Energy Agency (IAEA) R R R Y

(4) United Nanons Educatlonal Selennﬁc and Cultural Orgamsanon (UNESCO) vl

Which of the followmg groups is not related to elothes‘? _ iy
(1) Mysore srlk £ fl el (@) LucknoWr Chrkan il - R

(3) Himpus" G 400 e @) Kadiyalfo

)B:Series—101 (Set—A) - : i b W 'r*’-'___f"-"”-'27'-6f32-
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36 There are various seasons throughout the year on earth. What is/are reason(s) for this? |

(A) Inclination of Earth's Axis (B) Orbital Motion of the Earth.
(1) OnlyAcorrect . . -, . % '

_ ; % (2 Only B correct
(3) A and B both correct - (4)'A and B both i_ncoﬁ_'ect

37, Panaji : Cenﬁval Jalsalmer ?

M MarwadFestwal | ' () Mewad Festival = .~ - ' :

(3) Ranbhoomi Festival (4) Marubhoomi Festival

138. Which of the followmg is an mcorrect feature of the westem Ghats of lndxa'?
(1) One of the biodiversity hot spots

(2) Malayagiri is the highest peakmﬂlat'area e . g T b '_
(3) Included i in the "World's Hentage Sites' by UNESCO' Gk
(4) Main divide between the nvers flowing to Arablan sea-and thie Bay of Bengal

139. Which is the mcerreet pair of dlsmcts o,f Mabharashtra and its major mineral found? i
(1) Sindhudurg and Nagpur — Iron ore, . '(2)'Ratnagiri and Kolhapur - Bauxite ¢
(3) Gondia and Yawannal Iron O fift (4) Raigad and Smdhudurg Bauxlte

140. The Natlonal nghway does not pass through whxeh of the followmg groups of dlstncts‘? A
(1) Parbham — Hingoli — Latur g (2) Yavatmal - Gadchiroli — Nanded - , |
(3) Gadehlrell - Latur Nanded (4) ngoh ——Yawatmal Parbham . : " "

141. Which of the followmg is eharactensnc feature of eentours? S i W R
(1) These are actual lmes Jonnng all the places of same height above sea Ievel S _
(2) If the lines are spaced far away from each other it mdncates gentle slope Ey ol , | ‘J hy

3) These lines are mainly-used for showmg the length and breadth of physmgraphy features
(4) The colour of the contours depends on the helght of the place ,- 0 ; ' b

142. Which of the followmg forests shows plants hke Sundri, Kandal and .hwa:?
(1) Tropical Mmst Deelduous Forests i (2) Hot Treplea.l Thorny Forest 2
(3) Mangr ove Forest iy i 2 (4) Tropleal Dl'.V Demduous Forests - Oy

s ‘*-.r‘t

(1) Efferent Nerves ' F gl (2) Honnones
(3) Nerve ﬁbres G G Y '. (4) Spinal eord

143, Whlch of the followmg in the human bedy is recegmsed as 'Chemleal Message Camer'? 4
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_Wht:eh_"of the following are contagious diseases? '

;'fl) Ringworm and Gout -~ (2) Gout and Leprosy

3) Leprosy and Eczema ) Eczema and Rlngworm
& J

_Wh h of the followmg harmful substances are formed due to chewing of tobacco?
(A) Nicotine (B) Tar (C). Carbon monoxlde

i.- 1) Only A is correct _ _ : (2) Only B is correct

'(3) Aand B both correct . - _ (4) Aand B both incorrect

,Whleh of the following is an mcorrect statement? - : . ; ) * il ‘

0 The chromosome of the female birds decide the gender of the offsprmg Fp ST il
| (2) The XY chromosomes occur mamly in male birds. 3

~ (3) The XY chromosomes occur in female insects like butterﬂies 3 :
(4) Apart from -exceptions, condition of the chromosomes seen in male and fernale birds is the
opposne condltlon of chromosomes seen in human bemgs

. Which of the followmg is used to prevent potatoes from growmg sprouts?

(1) Ultrasonic sound 2) Cmmallsanon method .

(3) Gamma rays " '_ o W (4) Pasteunzatlou methed

. Read the following 'Cause and 'Effect’ statements and choose the correct altemanve =
(A) Cause : Sea water has high density. . e 3y

(B) Eﬁ‘eet It is easy to Swim in the Sea.

L

(1) OnlyA is correct ey i () OnlyB Is correct : i
G)A and B both are correet I-- : ARy (4) A and B both are mcorrect .

|’

<

. What is the charactenstlc features of the ‘decomposers in ecosystem"
(D Autotrophlc ; ] :

(2) Tertiary consumer of ecosystem o 4 o SSeR

(3) Helps the consumer group in ecosystem i FEAB i S { R l_g

4) Conversmn of i morgamc matter mto organic matter D et (o e oy '

. Which of the follomng statements is irrelevant to the concept of 'Devral'? R
(1) deltlorlal form of forest conservatlon in Maharashtra
(2) Rellglous tourist destmatlon _ 4 \
(3) Forest of the Gods” =~ Ao S W i R
4) VlBWpOll‘lt of protectmg the plants and ammals i)

ATUr I L A L AL T e, o R L L e T TE

S
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